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The call option price is C=SN(d,)—Ke'"N(d,), where d = £ 2 .

() + (=0T
K 2 ; ¥, 0, K and T are constant. The.function N(x)
oNT

is the probability that a standard normal random variable is less than x (l.e.

and d, =

x i | S
N(x)= Loﬁe 2 dy ). Please show that % = N(d,) . [10 points]

Integral can be valued using numerical methods of integration. (a) Please use the

Trapezoidal rule with n=10 to apiaro;:imate ledx, [10 points] (b) Please estimate
. X

‘ a1
the accuracy of approximation of _L —dx by the Trapezoidal rule with ‘#=10 using
% ,

the error estimate formula.[10 points]

(a) Solve the differential equation %’?; ky(1~%). [10 points} (b} y=1 when x=1;

please solve the differential equation (% —Dx =y [10 points]

1

lim(3" +5" +7" )7 =7 [10 points]
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5. Suppose that V = (x + 1) . Please find ? [10 points]
. . x
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6. Suppose that f (x) = J-e at . Please find f'(3). [10 points]
X

7. Solve the following problem: - % +2ty=y, y(0)=5. [10points]

8.
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2
.[ ¢ dxdy =1 [10 points]
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